C:# Subtraction With Tape Diagram Name:

Solve each problem using a tape diagram. Answers
1) There were 64 people on the train. At the first stop 30 people got off. How many people are
left on the train? 1.
2.
3.
2) A waiter has 43 customers. If 13 left, how many customers would the waiter still have?
4.
5.
6.
3) A store had 44 sodas on Monday. If they sold 32 of them on Tuesday, how many would
they have left on Wednesday?
7.

4) For aparty Billy bought 82 cupcakes. If 36 were eaten, how many cupcakes would Billy
have left?

5) Isabel had 34 3DS games. If she gave 17 to her friend, how many would she have |ft?

6) Bianca could send 49 text messages aday. If she sent 24, how many text messages does
she have left she can send?

7) Roger has $50. He decides to spend $37 on new video game. How much money would he
have left?
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Subtraction With Tape Diagram Name:

Answer Key

Solve each problem using a tape diagram.

1)

2)

3)

4)

5)

6)

7)

There were 64 people on the train. At the first stop 30 people got off. How many people are

left on the train?

64
/\

30 | ?

A waiter has 43 customers. If 13 left, how many customers would the waiter still have?

43
N\

13 | ?

A store had 44 sodas on Monday. If they sold 32 of them on Tuesday, how many would
they have left on Wednesday?

44
/\

32 | ?

For aparty Billy bought 82 cupcakes. If 36 were eaten, how many cupcakes would Billy
have left?

82
VAN

36 | ?

Isabel had 34 3DS games. If she gave 17 to her friend, how many would she have left?

34
N\

17 | ?

Bianca could send 49 text messages a day. If she sent 24, how many text messages does
she have left she can send?

49
VAN

24 | ?

Roger has $50. He decides to spend $37 on new video game. How much money would he
have left?

50
N

37 | ?

Answers

34

30

12

46

17

25

13
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